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Esercizio!n.!1!
Ad"un"blocco"di"massa"m"che"si"trova"su"un"
piano" inclinato" di" un" angolo" α" rispetto"
all'orizzontale," è" applicata" la" forza" F!
orizzontale," disegnata" in" figura." Il"
coefficiente"di"attrito"dinamico"fra"blocco"ed"
il"piano"inclinato"è"μD""(μS">"μD")."All'istante"

iniziale"il"blocco"è"in"moto"lungo"il"piano"
inclinato"con"velocità"vini""verso"l'alto.""

Si"osserva"che"successivamente"il"blocco"rallenta"fino"a"fermarsi"dopo"un"intervallo"di"tempo"T."
1)"Si"trovi"la"lunghezza"dello"spostamento"del"blocco"fino"all’istante"T.""
2)"Si"calcoli"il"lavoro"della"forza"totale"agente"sul"blocco"nell’intervallo"di"tempo"T.""
3)"Si"calcoli"per"t≥T!(T!istante"in"cui"il"blocco"si"ferma)"modulo,"direzione"e"verso"della"forza"
d'attrito"statica"che"il"piano"applica"sul"blocco.""

"
Dati"numerici:"m!="4.8"kg","" "="380,"F!="47"N","μD"="0.33","vini"="4.3"m/s""
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Esercizio!n.!2!
Si"consideri"la"guida"indicata"in"figura,"formata"
da"un"piano"inclinato"liscio"di"altezza"L"e"
inclinazione" "ed"un"cerchio"di"raggio"(ignoto)"
R"e"centro"C.""
Una" massa" viene" lanciata" verso" l'alto" con"
velocità"v0,"percorre"il"piano"inclinato,"continua"
il"suo"moto"lungo"il"cerchio"per"un"angolo"pari"a""
900"e"quindi"si"stacca"dalla"guida"nel"punto"A."La"
massa" quindi" prosegue" il" suo" moto"
raggiungendo"la"massima"quota"nel"punto"B."Se"
indichiamo"con"z"la"quota,"sia"zB!:!zA!=!h.""

Si"calcoli:"

1)"la"velocità"della"massa"nei"punti"A"e"B;"

2)"la"reazione"vincolare"in"A"ed"il"raggio"R"del"cerchio;"

3)"la"velocità"della"massa"nel"punto"D"e"la"reazione"vincolare"in"D;"

4)"la"velocità"iniziale"v0."
"
Dati"numerici:" "="220,"h"="17.7"cm,"L"="19.8"cm,"m"="1.00"kg"
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